CONCEPTUAL tTooLs By: Neil E. Cotter CIRCUITS

THEVENIN EQUIVALENT
Max power xfer
EXAMPLE 4
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a) Calculate the value of Ry, that would absorb maximum power.

b) Calculate that value of maximum power R, could absorb.
Solln: a) R, = Riney For max pwr
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CONCEPTUAL TOOLS By: Neil E. Cotter CIRCUITS

THEVENIN EQUIVALENT
Max power xfer
EXAMPLE 4 (CONT.)

)/-rh = V across R, terminal with k/.. removed.
Use sb\PerFos'ﬂ:Lon +o  Find Vih-

case LT: 6A on, BoV off
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VThl = V across 00352 resistor = GA 1005
. VTh' = EOOV

case [+ G6A off, BoV on
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We have no current 120 V Arof acrpss R's.
The S0V appedrs as - VT/‘[Z across ‘the
'ﬁef‘ML’léLLs‘: VTAZ: - BoV.

VTA = kal + VT‘/[ = 00~-80 V = S0V
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